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» READ THE INSTRUCTIONS
CAREFULLY AND ANSWER
THE QUESTIONS . SHADE THE
CORRECT OPTION IN YOUR
SHEET.




Q1. Asquare is a

triangle
plane figure
circle

line segment

S




Q2. Which of these mentioned below have
no length , breadth or thickness ?

A. line

B. point

C. ray

D. line segment




Q3. Fold a square in half. What shape do

you get ?
A. rectangle/triangle
B. circle
c. line
D.

oval




Q4. What shape will you get if you trace
the outline of a one - rupee coin ?

A. Rectangle
B. Square

c. Triangle
D. Circle




Q5. The blackboard has a surface.

A. curved
B. plane
C. no

D. many




Q6. To convert 3000ml to |, by 1000.

multiply
divide
add
subtract

= O e =




Q7. My weight was 48kg a year ago.
Now, my weight is 58kg. How much
weight have | gained ?

A, 20
B. 10
c. 8
D. 2




Q8. Shweta poured 2,800ml of water
into a bowl. Seema poured 2l
of water into the same bowl. What
quantity water is there in the bowl now?

A, 4,800
B. 2,802
c. 2,822
D. 4,002




Q9. Metres, Grams and Litres are

units.
A.  equal
B. simple
C. standard
D. easily




Q10. A dairyman has 5 litres of milk to put
into bottles. He fills bottles of capacity
50ml each. How many bottles can he

fills ?
A. 400
B. 500
c. 100
D. 550




ANSWER KEY




Answers

1.B 6. B
2.B 7.B
3.A 8. A
4.D 9. C

5.B 10. C
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